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 x……®……ΔEÚ Roll No. 
  

 
 

      

 

No. of Questions — 24 SS—14–1—Geog. I  

No. of Printed Pages — 7 
 

 =SS… ®……v™… ®…EÚ {…Æ˙“I……, 2011  
SENIOR SECONDARY EXAMINATION, 2011 

¥…ËEÚŒ±{…EÚ ¥…M…« I — EÚ±…… (OPTIONAL GROUP I — HUMANITIES) 
¶…⁄M……‰±… — |…l…®… {…j… 

( GEOGRAPHY — First Paper ) 

∫…®…™… :  3
4

1

 
P…h]‰ı 

{…⁄h……»EÚ : 40 
 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ̆∂… : 

 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â* 

  Candidate must write first his / her Roll No. on the question 
paper compulsorily. 

 2. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ /  ¥…Æ˙…‰v……¶……∫… 
Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ ∫…Ω˛“ ®……x…Â* 

 If there is any error / difference / contradiction in Hindi & 
English versions of the question paper, the question of Hindi 
version should be treated valid. 

 3. ∫…¶…“ |…∂x… EÚÆ˙x…‰ + x…¥……™…« ΩĘ̀* |…∂x… GÚ®……ΔEÚ 22 ¥… 23 ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛* 
All the questions are compulsory. There are internal choices in 
Question Nos. 22 and 23. 

 4. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â * 
  Write the answer to each question in the given answer-book only. 
 5.  V…∫… |…∂x… E‰Ú BEÚ ∫…‰ + v…EÚ ∫…®……x… +ΔEÚ ¥……±…‰ ¶……M… ΩĘ̀, =x… ∫…¶…“ ¶……M……Â EÚ… Ω˛±… BEÚ 

∫……l… ∫…i…i…¬  ±…J…Â* 
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  For questions having more than one part carrying similar marks, 
the answers of those parts are to be written together in 
continuity. 

 6. |…∂x… ∫…ΔJ™…… 2 ∫…‰ 5 i…EÚ + i… ±…P…⁄k…Æ˙…i®…EÚ |…∂x… ΩĘ̀  V…x…E‰Ú |…i™…‰EÚ =k…Æ˙ ±…M…¶…M…    
20 ∂…§n˘…Â ®…Â, |…∂x… ∫…ΔJ™…… 6 ∫…‰ 13 i…EÚ |…i™…‰EÚ =k…Æ˙ 30 ∂…§n˘…Â ®…Â, |…∂x… ∫…ΔJ™…… 14 

∫…‰ 21 i…EÚ |…i™…‰EÚ =k…Æ˙ ±…M…¶…M… 50 ∂…§n˘…Â ®…Â i…l…… |…∂x… ∫…ΔJ™…… 22 ∫…‰ 24 i…EÚ 
|…i™…‰EÚ =k…Æ˙ ±…M…¶…M… 3 {…fiπ`ˆ…Â ®…Â n˘“ V…B * 

  Question Nos. 2 to 5 are very short answer type to be answered in 

20 words each, Question Nos. 6 to 13 in 30 words each, 
Question Nos. 14 to 21 in 50 words each and Question Nos. 22 

to 24 in 3 pages each. 
 7. |…∂x… GÚ®……ΔEÚ 1 E‰Ú S……Æ˙ ¶……M… ( i, ii, iii i…l…… iv) ΩĘ̀* |…i™…‰EÚ ¶……M… E‰Ú =k…Æ˙ E‰Ú S……Æ˙ 

 ¥…EÚ±{… (+, §…, ∫… B¥…Δ n˘ ) ΩĘ̀* ∫…Ω˛“  ¥…EÚ±{… EÚ… =k…Æ˙…I…Æ˙ =k…Æ˙-{…÷Œ∫i…EÚ… ®…Â 
 x…®x……x…÷∫……Æ˙ i…… ±…EÚ… §…x……EÚÆ˙  ±… J…B : 

 There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 
has four alternatives A, B, C and D. Write the letter of the correct 

alternative in the answer-book at a place by making a table as 
mentioned below : 

 |…∂x… GÚ®……ΔEÚ 
Question No. 

∫…Ω˛“ =k…Æ˙ EÚ… GÚ®……I…Æ˙ 
Correct letter of 

the Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   

 
1. (i) ∫…=n˘“ +Æ˙§… E‰Ú + v…EÚ…Δ∂… EÚSS…… i…‰±… EÚ… n˘…‰Ω˛x…  V…∫… EÚ®{…x…“ u˘…Æ˙…  EÚ™…… V……i…… ¥…Ω˛ ΩĘ̈   
  (+) G‰Ú™…‰x∫… (§…) M…‰±…  
  (∫…) +…‰ Bx… V…“ ∫…“ (n˘) +…Æ˙…®……‰EÚ…‰ * 
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  Extraction of maximum crude oil in Saudi Arabia is done by the 

oil company  

  (A) Crayens  (B) GAIL 

  (C) ONGC (D) Aramoco. 
2
1  

 (ii)  n˘±±…“ x…M…Æ˙ V……x…… V……i…… ΩË˛  

   (+) |……M…Ë i…Ω˛… ∫…EÚ x…M…Æ˙ E‰Ú ∞¸{… ®…Â (§…) B‰ i…Ω˛… ∫…EÚ x…M…Æ˙ E‰Ú ∞¸{… ®…Â 

   (∫…) +…v…÷ x…EÚ x…M…Æ˙ E‰Ú ∞¸{… ®…Â (n˘) |……S…“x… x…M…Æ˙ E‰Ú ∞¸{… ®…Â * 

  The town Delhi is known as 

   (A) Prehistoric Town (B) Historical Town 

   (C) Modern Town (D) Ancient Town. 
2
1  

 (iii) ∫…®¶…¥…¥……n˘  ¥…S……Æ˙v……Æ˙… EÚ…‰ ®……x…x…‰ ¥……±…‰  ¥…u˘…x……Â EÚ… ∫…®…⁄Ω˛ ΩĘ̈  

   (+)  ¥…b˜…±…-b˜“-±…… §±……∂…, V…“x… •…⁄Δ∂…, Æ‰̇]ıV…Ë±…,  b˜®……Δ V…™…… 

   (§…) EÚ…h]ı, Ω˛®§……‰±]ı,  Æ˙]ıÆ˙, Æ‰˙]ıV…Ë±… 

   (∫…)  ¥…b˜…±…-b˜“-±…… §±……∂…, V…“x… •…⁄Δ∂…,  b˜®……Δ V…™……, §±…ÈS……b«̃ 

   (n˘)  O… °Úl… ]‰ı±…Æ˙, §±…ÈS……b«̃, Æ‰̇]ıV…Ë±…, °‰Úμ…‰ 

   The group of scholars believed in possibilism ideology is  

  (A) Vidal-de-la Blache, Jean Brunhes, Ratzel, Demangeon 

  (B) Kant, Humboldt, Ritter, Ratzel 

  (C) Vidal-de-la Blache, Jean Brunhes, Demangeon, Blanchard 

   D) Griffith Taylor, Blanchard, Ratzel, Febvre. 
2
1  
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 (iv)  EÚ∫…“ Æ˙…π]≈ı E‰Ú +…Ãl…EÚ  ¥…EÚ…∫… EÚ… ®…⁄±… +…v……Æ˙ ΩĘ̈   

   (+) V…x…∫…ΔJ™…… EÚ… +…EÚ…Æ˙ (§…) ®……x…¥… ∫…Δ∫……v…x… EÚ“ I…®…i…… 

   (∫…) |……EfiÚ i…EÚ ∫…Δ∫……v…x… (n˘) ¶……Ë i…EÚ ¥……i……¥…Æ˙h… * 

  The fundamental base of the economic development of any 

nation is  

   (A) size of population  

   (B) capability of human resources 

   (C) natural resources  

   (D) physical environment.   
2
1  

2. {… Æ˙¥…Ω˛x… E‰Ú n˘…‰ {…Æ˙®{…Æ˙…M…i… ®……v™…®…  ±… J…B *   

 Write two traditional means of transportation. 
4
1

 
+ 

4
1  = 

2
1  

3. x…M…Æ˙“™… + v…¥……∫……Â E‰Ú n˘…‰ ®…÷J™… ∫¥…∞¸{…  ±… J…B *   

 Write two main forms of urban settlements.  
4
1

 
+ 

4
1  = 

2
1   

4. V…x…∫…ΔJ™…… E‰Ú EÚ… ™…EÚ P…x…i¥… EÚ… ∫…⁄j…  ±… J…B *   

 Write the formula of physiological density of population.  
2
1  

5. ®……x…¥… x…‰  ¥…∫i…fii…  ¥…∂¥… EÚ…‰ M±……‰§…±… M……Δ¥… ®…Â EËÚ∫…‰ {… Æ˙¥…Ãi…i… EÚÆ˙  n˘™…… ΩĘ̈ ?  

 How human being has transformed the vast world into a global 

village ? 
2
1  

6. ∫……I…Æ˙i…… n˘Æ˙ EÚ…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰ EÚ…‰<« S……Æ˙ EÚ…Æ˙EÚ  ±… J…B *   

 Write any four factors affecting the literacy rate. 4 × 
4
1  = 1 
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7. ∫…÷®…‰ ±…i… EÚ“ V…B : 

   V…x…V…… i… i…®§…⁄ EÚ… x……®… 

 (+)  EÚÆ˙M…“V… (i) J……<®……∫… 

 (§…) Æ‰̇b˜ <Œhb˜™…x… (ii) GÚ…±… 

 (∫…) P…÷®…CEÚc˜ +£Ú“EÚ“ (iii) ™…÷i…« 

 (n˘) §…qŸ˘+…Â (iv)  i…{…“ *  

 Match the following : 

   Tribes Tent's name 

 (A) Khirgis (i) Khaimas 

 (B) Red Indians (ii) Kraals 

 (C) African nomads (iii) Yurt 

 (D) Baddus (iv) Tipis. 4 × 
4
1  = 1 

8. +…Ãl…EÚ ∞¸{… ∫…‰ ∫… GÚ™… V…x…∫…ΔJ™…… EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B *   

 Define economically active population.  1 

9. +…Ãl…EÚ  ¥…EÚ…∫… ∫i…Æ˙ E‰Ú + i… Æ˙HÚ ±……‰M……Â EÚ“ EÚ…‰<« n˘…‰ +…v……Æ˙¶…⁄i… +…EÚ…ΔI……Bƒ  ±… J…B *   

 Besides the level of economic development, write any two fundamental 

aspirations of the people. 
2
1  + 

2
1  = 1 

10. =iJ…x…x… +…ËÆ˙ J…x…x… ®…Â +xi…Æ˙ EÚ“ V…B *   

 Distinguish between quarrying and mining. 1 

11. ]ı…‰ EÚ™……‰ ∂…Ω˛Æ˙ EÚ“ ¶……ËM……‰ ±…EÚ Œ∫l… i… EÚ… x……®……Δ EÚi… Æ‰̇J…… S…j… §…x……<B *   

 Draw a labelled sketch of the geographical location of Tokyo.
 

 1 

12. S…i…÷l…«EÚ ¥™…¥…∫……™… EÚ“  EÚxΩ˛” S……Æ˙ +…Ãl…EÚ  GÚ™……+…Â E‰Ú x……®…  ±… J…B *   

 Write any four economic activities of quaternary occupation. 4 × 
4
1  = 1 
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13. ™… n˘ +…{… <±…‰C]≈ı…Ï x…EÚ ®……v™…®… ∫…‰ ¥™……¥…∫…… ™…EÚ ±…‰x…-n‰̆x… EÚÆ˙x…… S……Ω˛i…‰ ΩÈ˛, i……‰ +…{…  EÚ∫… ∫…‰¥…… 

EÚ… S…™…x… EÚÆÂ̇M…‰ +…ËÆ˙ C™……Â ?   

 If you want to do commercial dealings through electronic means, 

which service would you select and why ? 
2
1  + 

2
1  = 1  

14. ¥……∫™… I…‰j… EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B i…l…… V…x…∫…ΔJ™…… ∫…ΔE‰Úxp˘h… E‰Ú EÚ…‰<« n˘…‰ |…v……x… I…‰j…  ±… J…B *  

 Define Ecumene areas. Write any two major areas of population 

concentration.  1 + 1 = 2 

15. ¥™……{…… Æ˙EÚ +z… =i{……n˘EÚ EfiÚ π… EÚ“ S……Æ˙  ¥…∂…‰π…i……Bƒ  ±… J…B *   

 Write four characteristics of commercial grain farming. 4 × 
2
1  = 2 

16. x…M…Æ˙“™… + v…¥……∫……Â EÚ“  EÚxΩ˛” S……Æ˙ ∫…®…∫™……+…Â EÚ… =±±…‰J… EÚ“ V…B *  

 Mention any four problems of urban settlements. 4 × 
2
1  = 2 

17. +…xi… Æ˙EÚ V…±… {… Æ˙¥…Ω˛x… EÚ“ ={…™……‰ M…i……  EÚx… EÚ…Æ˙EÚ…Â {…Æ˙  x…¶…«Æ˙ EÚÆ˙i…“ ΩĘ̈ ? (EÚ…‰<« S……Æ˙)   

 Which factors determine the utility of inland water transport ?             

( any four )  4 × 
2
1  = 2 

18. +…∫]≈‰ı ±…™…… EÚ… Æ‰̇J…… ®……x… S…j… §…x……EÚÆ˙  u˘i…“™…EÚ ¥™…¥…∫……™… E‰Ú I…‰j… n˘∂……«<B *   

 Draw an outline map of Australia and depict the secondary 

occupational areas. 1 + 1 = 2 

19. +£Ú“EÚ… EÚ… Æ‰̇J…… ®……x… S…j… §…x……EÚÆ˙ E‰Ú{…-EÚ… Ω˛Æ˙… Æ‰̇±…®……M…« EÚ…‰ +Δ EÚi… EÚ“ V…™…‰ *   

 Draw an outline map of Africa and mark Cape Cairo railway. 1 + 1 = 2  

20. ™… n˘ +…{… ∫…“®…‰x]ı EÚ… +xi…Æ˙Æ˙…π]≈ı“™… ¥™……{……Æ˙ EÚÆ˙x…… S……Ωi…‰ ΩÈ˛ i……‰ ™……i……™……i… E‰Ú  EÚ∫… ∫……v…x… EÚ… 

S…÷x……¥… EÚÆÂ˙M…‰ +…ËÆ˙ C™……Â ?  

 If you want to do international trade of cement, which means of 

transport would you select and why ? 
2
1

 
+ 1

2
1  = 2 
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21. ™… n˘ +…{… i…“μ…M……®…“ {… Æ˙¥…Ω˛x… ∫…‰¥……+…Â EÚ…  ¥…∫i……Æ˙ EÚÆ˙x…… S……Ω˛i…‰ ΩĘ̀ i……‰ +…{… EÚ…Ëx… ∫…‰ {… Æ˙¥…Ω˛x… 

E‰Ú ∫……v…x… EÚ…  ¥…EÚ…∫… EÚÆÂ̇M…‰ ? =∫…E‰Ú  ¥…EÚ…∫… Ω‰̨i…÷ i…“x… ¥……Δ UÙi… n˘∂……Bƒ ∫…÷Z……<B *  

 If you want to extend fast transport services, which means of transport 

would you develop ? Suggest any three prerequisites for its 

development. 
2
1  + 1

2
1  = 2  

22. §…÷∂…®…Ëx… V…x…V…… i… E‰Ú  x…¥……∫… I…‰j…, ¶……‰V…x… B¥…Δ ∫……Δ∫EfiÚ i…EÚ ¥……i……¥…Æ˙h… EÚ…  ¥…∫i……Æ˙ ∫…‰ ¥…h…«x… 
EÚ“ V…B *  

+l…¥…… 

 BŒ∫EÚ®……Â V…x…V…… i… E‰Ú  x…¥……∫… I…‰j…, ¶……‰V…x… B¥…Δ ∫……Δ∫EfiÚ i…EÚ ¥……i……¥…Æ˙h… EÚ…  ¥…∫i……Æ˙ ∫…‰ ¥…h…«x… 
EÚ“ V…B * 

 Describe in detail the habitat, food and cultural environment of the 

Bushmen. 
2
1

1  + 1 + 1
2
1  = 4 

OR 

 Describe in detail the habitat, food and cultural environment of the 

Eskimos. 
2
1

1  + 1 + 1
2
1  = 4 

23. V…x…∫…ΔJ™……  ¥…i…Æ˙h… +…ËÆ˙ P…x…i¥… EÚ…‰ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰  EÚxΩ˛” S……Æ˙ ¶……Ë i…EÚ EÚ…Æ˙EÚ…Â EÚ“ 
¥™……J™…… EÚ“ V…B * 

+l…¥…… 

  ¥…∂¥… E‰Ú  ¥…EÚ…∫…∂…“±… n‰̆∂……Â EÚ“ V…x…∫…ΔJ™…… ∫…®§…xv…“ ∫…®…∫™……+…Â EÚ“ ¥™……J™…… EÚ“ V…B * 

 Explain any four physical factors affecting the distribution and density 

of population. 4 

OR 

 Explain population proplems of the developing countries of the world. 4 

24. ¥™……{……Æ˙ ∫…‰ +…{…EÚ… C™…… + ¶…|……™… ΩË˛ ? ¥™……{……Æ˙ EÚ“ +…¥…∂™…EÚ ∂…i…Á B¥…Δ |…¶…… ¥…i… EÚÆ˙x…‰ ¥……±…‰ 
EÚ…Æ˙EÚ…Â EÚ“ ¥™……J™…… EÚ“ V…B * 

 What do you mean by trade ? Explain the basic conditions and factors 

affecting trade. 1 + 1 + 2 = 4 

     


